(= B)
. . WIESE
Hr IH %t A <fﬁ ﬁ)
LRI ASESE (k3 W)
GBS
) D MooH B & o K%
ﬁﬁg&h@%fﬂ: {ﬁﬁﬁ/a\ N VY RN 2t | 7 Ay =
X F Al [ % | R 1% [ ]| e ] | & H
KA— (
TlEH R | i i i i i i
g\ g 75,000| 88,000| 147,000| 100,000| 169, 000| 210, 000
ﬁj:%%\ E‘A ) b ’ b ) b
e, B
SEK \Pirard HEEI .
REROH | EHEH 94, 000| 111, 000| 184, 000| 125,000| 211,000| 263, 000
H i B %
2 R
— £}
()
2,500 2,900 4,900 3, 300 5, 600 7,000
3 a2 ’ ’ ’ ’ ’ ’
R 1, 000 1,200 2,000 1, 300 2,300 2,800
(%)
e 5= 800 1, 000 1, 600 1,100 1, 900 2, 300
WE(FE1
MR KOV
1, 000 1, 000 2,000 1, 000 2,000 3, 000
2 MR A R
<, ) 1=
k=
1
()
2
3 e 4PER— LR OSSR (5 IR EOE 2 R 2 R, ) TR
T RO A R — L -




Tik, BEEREN RN E RO & &1L, AR OXSORIZICERT S
BFE (4R, %M OE DX K 568 HREE LA ORFICR 5, ) 125

T B
zbﬁf%wﬁ%%%ﬁb\%@%@ﬁ%wﬁ%kbmomfwﬂ%

BHeEOEMERIL, RO LB L35,
FAEE PR RPEE, R B 1RBLOE 2 KE

WTdh

1) K= Gezy= 1)
F-H 16, 0004
THEH, HERS 20, 000/

2 ()

(B) KB G IERRROE 2EBLHR ) 1= 100F)

4

()




